
4926 4926.5 4927 4927.5 4928
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

2.5−

2−

1.5−

1−

0.5−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

5801

5801.5

5802

5802.5

5803

5803.5

5804

5804.5

5805

ru
n

run:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5803}



4926 4926.5 4927 4927.5 4928
cyclenum

70.5−

70−

69.5−

69−

68.5−

us
l_

1X
usl_1X:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

5.4−

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

us
l_

4a
Y

usl_4aY:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

73.6

73.8

74

74.2

74.4

74.6

74.8

75

75.2

75.4

75.6

75.8

us
l_

4e
X

usl_4eX:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

24

24.2

24.4

24.6

24.8

25

25.2

25.4

25.6

25.8

26

26.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

47−

46.5−

46−

45.5−

45−us
l_

12
X

usl_12X:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

5801

5801.5

5802

5802.5

5803

5803.5

5804

5804.5

5805

ru
n

run:cyclenum {run == 5803}



4926 4926.5 4927 4927.5 4928
cyclenum

106−

105.5−

105−

104.5−

104−us
r_

1X

usr_1X:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

3−

2.5−

2−

1.5−

1−

us
r_

4a
Y

usr_4aY:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

226.5

227

227.5

228

228.5

us
r_

4e
X

usr_4eX:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

14

14.5

15

15.5

16

us
r_

4e
Y

usr_4eY:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

43.4−

43.2−

43−

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

41.4−

41.2−

us
r_

12
X

usr_12X:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

5801

5801.5

5802

5802.5

5803

5803.5

5804

5804.5

5805

ru
n

run:cyclenum {run == 5803}



4926 4926.5 4927 4927.5 4928
cyclenum

12124

12124.5

12125

12125.5

12126

us
l_

co
il1

usl_coil1:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

2392.6

2392.8

2393

2393.2

2393.4

2393.6

2393.8

2394

2394.2

2394.4

2394.6

2394.8

us
l_

co
il3

usl_coil3:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

5352.5

5353

5353.5

5354

5354.5

us
l_

co
il4

usl_coil4:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

327

327.5

328

328.5

329

us
l_

co
il6

usl_coil6:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

16463.5

16464

16464.5

16465

16465.5

us
l_

co
il7

usl_coil7:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

5801

5801.5

5802

5802.5

5803

5803.5

5804

5804.5

5805

ru
n

run:cyclenum {run == 5803}



4926 4926.5 4927 4927.5 4928
cyclenum

16612.4−

16612.2−

16612−

16611.8−

16611.6−

16611.4−

16611.2−

16611−

16610.8−

16610.6−

16610.4−

16610.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

2913−

2912.5−

2912−

2911.5−

2911−

us
r_

co
il3

usr_coil3:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

4471.6

4471.8

4472

4472.2

4472.4

4472.6

4472.8

4473

4473.2

4473.4

4473.6

4473.8

us
r_

co
il4

usr_coil4:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

811

811.5

812

812.5

813

us
r_

co
il6

usr_coil6:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

29400.5

29401

29401.5

29402

29402.5

us
r_

co
il7

usr_coil7:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

5801

5801.5

5802

5802.5

5803

5803.5

5804

5804.5

5805

ru
n

run:cyclenum {run == 5803}



4926 4926.5 4927 4927.5 4928
cyclenum

288.5−

288−

287.5−

287−

286.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

21−

20.5−

20−

19.5−

19−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

256.2

256.4

256.6

256.8

257

257.2

257.4

257.6

257.8

258

258.2

258.4

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

250−

249.5−

249−

248.5−

248−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

36.4−

36.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

154.5

155

155.5

156

156.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5803}



4926 4926.5 4927 4927.5 4928
cyclenum

215.2

215.4

215.6

215.8

216

216.2

216.4

216.6

216.8

217

217.2

217.4

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

69.6

69.8

70

70.2

70.4

70.6

70.8

71

71.2

71.4

71.6

71.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

229.5

230

230.5

231

231.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

31.5

32

32.5

33

33.5

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

2−

1.5−

1−

0.5−

0

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5803}



4926 4926.5 4927 4927.5 4928
cyclenum

235−

234.5−

234−

233.5−

233−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

81−

80.5−

80−

79.5−

79−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

0

0.5

1

1.5

2

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

497.5−

497−

496.5−

496−

495.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5803}

4926 4926.5 4927 4927.5 4928
cyclenum

5801

5801.5

5802

5802.5

5803

5803.5

5804

5804.5

5805

ru
n

run:cyclenum {run == 5803}
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